Hidden Message

FIRST, work each problem and find your answer in the rectangle below. The correct answers run across from left to right.
SECOND, cross out each correct answer. When you finish, there will be 32 boxes not crossed out.
STARTING ON THE TOP LINE AND WORKING FROM LEFT TO RIGHT, PRINT THE 32 LETTERS THAT
REMAIN INTO THE BOXES AT THE BOTTOM OF THE PAGE. A HIDDEN MESSAGE WILL APPEAR!
1. 6.4+ .53+.008+2.17 = 6. 6.4+ .019+2.05+.08=
2. 3.6+t19+2.22+.081= 7. 34.6+.458+3.005+.71=
3. 43.2+.804+6.54+7.2= 8. 222.95+4865+.07+3.4=
4. 10+ .637 +.142 +1.05 = 9. 34007+ .958+2.347+20.1=
9. 356.2+19.04+.11+24 = 10. 507.4+296+.39+42.17 =
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